CEVTh

"0

ABYTHDREAVE —RIEEV)INTT, BT Tk
DREBHELTHRERYFE - TEYET . RER—Da
TERHRLTEYET,

BkLNE] 44X vk
B/A- 8 10 B FE1=[E50F
B/A- 9 10 B FE1=[E50F
B/A- 10 10 B FE =50
B/A— 11 10 B FE1=[E50F
B/A- 12 10 B FE1=[E50F
B/A- 13 10 B FE1=[E50F
B/A- 14 10 B FE1=[E50F
B/A- 15 10 B FE1=[E50F
B/A- 16 10 B FE1=[E50F
B/A- 17 10 B FE1=[E50F
B/A- 18 10 B FE1=[E50F
B/A- 20 10 B FE1=[E50F
B/A - 34 10 FE =[50 F

= 12L | 102 FE71=1E50

= 12SL | 108 FE71=(X50

= 18L | 102 FE71=1X50E

2 18SL | 10 FE71=(X50

E/A— | 8R |102Z/- 13502

B/A— 9R 102 FE71=(E50F

B /N - 1R 102 FF-(F50F

B /N - 12R | 102 FF-(F50F

= 13R |10 @ F=(E50F

BHEDRIEVIFTT , HAXREIBHEE TS,

& [E & awyk
=) 6m/m 108
RN—3 | 6m/m 108

WHEOMARD)ITY,

=) YA X =PI
2 4 108
= 3 108
= 2 108
= 1 102
N—a 4 108
N—a 3 108
N—a 2 108




EVUTRDIRNRENESICTEALZSLY,

[=) H4X Ovk
- 1008 148

HRBDIAT v TTEHNEST AAEDEL)T
bTY . REEENMFED)IFTT,

[=) H4X =PI
ENE 3 7 |10 F7-IF50E
oo BT B 3 ENE 3 8 |10RF/-F50E
ENE 3 9 |[10RF-F50E
B o b B 2/k=ZE 10 10 B E =150 F

2/7x2 | 12l |10EF(F50F
2/7x2 | 12SL | 10EF1(F50F
=/hE 16 10 Ff=Id50E
2/7x2 | 18SL | 10EF1=(F50F

EEBEABNIATIIGYET . YA
RIZ"R"ADWTLBHIEAETY,

H4X Ovk
7 10 FE502E
8 10 F=E502E
9 10 FE502E
12SL [10@F=IF50E
78R [10EF=IL50E
11R__ |10 F=(L50&
12R [ 108 FE7=1F502
13R [ 108 FE7=1F502

SHE A KD | [ [ |




